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4. TUEE BR WA H fAUSHTHT TH TG T A T G TH ok qEd AN hl el
oo mam &7 27 B w1 H 9 fRad =R W dien @

() Soh 9% T Held W E?
(i) T HeThl W E?
(iii) o HARI W B2

5. g YA SHIIE o Ueh 9& i SIS I KA WEdl Al SHA A0 R I W A
TSl T ST @11 98 4:1 o | TF I8 39 g&1 1 WSE ! AT SHHT 7Y 15
IS off| oTd: g8 HI AR H TA?

6. T THEEN 12 o2 | oISl & T e I dF el U digdl 21 T8 uie The i
o fau fordar w9 <m?

7. | o 9% T H9S10.5% g 81 T Tt fa=t €2

8. fomar %1 of Y o1g 34 99 B o ¥ X A I W KT Mg fowar  gdw= g @
R T et fear Y adeE ey e 22

9. TR, WU SR HiEteT s € S wh @) hen W uedl &1 T o qden (class test) ),
il , 25 § 9 A 1 16 AR AL H 20 3k W €A &1 SR G 37 19 |
HEfEA 1 forae 3T W gu?

I

1. @) 140 i) 10

2. () Tafesl : 104, %09 : 52,0 : 26
(i) TS5 o foaepl &1 @& =12, T 2 o gl =1 & =24
3. 124 4. () 6 (i) 10 (i) 8 5. 60w
1
6. 24T 7 S0 8. 7o 9. 21
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